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with( plots) :

Capital 'I'stands for the imaginary unit /' in the displays. There were four versions of the test. One of

the following should apply to the version you took.

fr=xox —4x 42 +12:4 —24-x+ 16

xoxr —4xX 425 +12°% —24x+16 1)

solve( f(x) =0, x)

=2, 1==L1~12,2

factor( f(x), real)

(xH2.) (x—2.)
factor( f(x), complex)
plot( f(x),x=-5..5,y=-10..50)
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f= x—=x% +x =% +11-% +8:x—20

g?)/[ L:Cf)‘ P 20 i

x—-+x5+x4——x3+11x2+8x——20

solve( f(x) =0, x)

Lls2b ] =20 -2 ~2

factor( f(x), real)

(x +2.)% (x — 1.000000000) (x> —2.0x+5.)

factor( f(x), complex)

(x+2.)% (x=1.+2.1) (x — 1.000000000) (x —1.—2.1)

plot f(x),%=-5.5,y=-25..10)
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fr=xox —6:x +7x + 165 —18:x — 20

X=X —6x +7X5+16x —18x—20

solve( f(x) =0, x)

2,9 ] 3=1 =1, =1

factor( f(x), real)

(x=F 1.)2 (x —2.000000000) (xz — 6.000000000 x + 10.00000000)

factor( f(x), complex)

(&1 1.)2 (x —2.000000000) (x —3.000000000 + 1.000000000 I) (x — 3.000000000

— 1.000000000 I)
plot( f(x),x=-5..5,y=-25..10)
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f= x> —_6-x4 + 7% +20-3" —42-x + 20

x> —6x +7x +20F° —42x+20 (12)
solve( f(x) =0, x)
231134 1,1 (13)
factor( f(x), real)
(x+2.) (x—1.)% (5> — 6.0 x + 10.00000000) (14)
factor( f(x), complex)
(x+2.) (= 1.)% (x = 3. + 1.000000000 I) (x — 3. — 1.000000000 I) (15)
plot( f(x),x=-5.5,y=-10..75)
Drscan bes

L/ 2 &N C '7‘7{"/"
€
Pz Aot 2

A




	scan0001
	test-3-spring-11-solns.pdf

